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R5.2.16 8| R 70 R4.2.1 128 B 60 R3.2.1 148 = 70
’ REENREFF ETEHIE R4.11.2 118 B 70 R3.11.1 118 B 70 R2.11.10 okl HE 70
(REHER/HN1-4-36) R4.8.1 okl HE 70 R3.8.2 178 B 60 R2.8.7 okl HE 70
R4.5.2 118 B 70 R3.5.6 108 B 70 R2.5.1 118 B 70
R5.2.15 118 B 30 R4.2.2 118 B 40 R3.2.26 178 ™ 40
9 th R FwEAHRERT ETEiS R4.11.2 1485 B 40 R3.11.18 118 B 40 R2.11.17 158%| B 40
(BFFEWTEILBEBTILAT128-1) R48.2| 148 K 30 R3.9.2 o = 40 R28.13| 168 = 40
R4.5.16 118 = 40 R3.5.14 138 B 30 R2.5.15 148 = 40
R5.3.8 108%| B 30 R4.3.9 168 B 30 R3.3.10 108%| B 30
R5.2.8 108 B 30 R4.2.9 118 B 30 R3.2.10 108%| B 40
R5.1.11 108 B 40 R4.1.12 108 B 30 R3.1.13 108%| B 40
R4.12.7 108%| B 40 R3.12.8 108%| B 30 R2.12.9 108%| B 40
R4.11.9 108 B 30 R3.11.10 108 B 30 R2.11.11 108%| B 40
3 AR AET Y R4.105| 10BF| HE 30 R3.10.6|  10HF E 30 R2.10.7 10RF E 40
(BamHAL/HN1-2) R4.9.7 108%| B 30 R3.9.8 108f| = 30 R2.9.9 108f| = 40
R4.8.10 108 B 30 R3.8.11 108f| = 40 R2.8.5 108%| B 40
R4.7.6 108 B 40 R3.7.7 108 = 40 R2.7.8 108 = 40
R4.6.8 108 B 30 R3.6.9 108 B 30 R2.6.10 108 T 40
R4.5.11 108 T 50 R3.5.12 108 T 40 R2.5.13 108%| B 30
R4.4.6 108 B 30 R3.4.7 108 B 30 R2.4.8 108 B 40
R5.2.14 1485 B 40 R4.2.9 okl HE 50 R3.2.2 118 B 50
4 = Ry —E ==t o R4.11.8 108 B 40 R3.11.5 108 B 40 R2.11.9 okl HE 40
(LNDHETIRII234) R4.8.30 138 B 40 R3.8.3 148 B 40 R2.8.25 o = 40
R4.5.17 108 = 40 R3.5.19 168 = 40 R2.5.1 ol HF 40
R5.2.27 8| R 80 R4.2.28 178 B 80 R3.2.2 108%| B 70
5 AIBEARERRT JIIFS RO —K R4.11.30 1186| 2 70 R3.11.29 158 BF 80 R2.11.4 158 BF 70
(BT B ALET) R4.8.29 1685 = 70 R3.8.3 1485 B 70 R2.8.4 okl HE 70
R4.5.27 ol HE 80 R3.5.14 118 B 80 R2.5.7 138 B 70
R5.2.1 ofF| = 90 R4.2.2 okl HE 80 R3.2.1 ofF| = 80
6 W& 2 1B R T EfE IR R4.11.2 8| R 80 R3.11.2 118 B 80 R2.11.4 okl HE 80
(mA+HHRFILFE) R4.8.2 okl HE 70 R3.8.2 ofF| = 80 R2.8.17 8| R 80
R4.5.16 8| = 80 R3.5.14 ofF| = 80 R2.5.19 okl HF 80
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R2.2.20 158 B 60 H31.2.25 1186| B 70 H30.2.15 108 = 70
R1.11.12 148%| B 70 H30.11.7 ofy| HE 60 H29.11.28 108 B 70
R1.8.7 158 B 70 H30.8.24 116| = 60 H29.8.15 138 = 70
R1.5.25 168 B 70 H30.5.25 108 B 70 H29.5.18 108 B 70
R2.2.3 168 = 40 H31.2.13 158 B 30 H30.2.13 138 B 30
R1.11.1 138 B 30 H30.11.1 148%| B 40 H29.11.20 148| = 40
R1.8.2 178 B 30 H30.8.7 108 B 30 H29.8.23 158 B 40
R1.5.8 1785 = 30 H30.5.10 138 B 30 H29.5.19 148 B 40
R2.3.11 108%| B 30 H31.3.6 108 = 40 H30.3.7 108 = 40
R2.2.5 108%| B 40 H31.2.6 1085 TR 40 H30.2.7 108 B 30
R2.1.8 108%| B 40 H31.1.9 108 = 40 H30.1.10 108 B 40
R1.12.11 108 = 40 H30.12.5 108 = 30 H29.12.6 108 B 40
R1.11.6 108%| B 40 H30.11.7 108 B 40 H29.11.8 1085 TR 40
R1.10.9 108%| B 40 H30.10.10 1085 TR 40 H29.10.11 108 B 30
R1.9.11 108%| B 40 H30.9.5 108 B 30 H29.9.6 108 B 30
R1.8.7 108 = 30 H30.8.8 108 B 40 H29.8.9 108 B 30
R1.7.10 108 TR 40 H30.7.11 108 B 30 H29.7.5 108 = 40
R1.6.5 108%| B 40 H30.6.6 108 TR 40 H29.6.7 108 TR 50
R1.5.8 108%| B 30 H30.5.9 108 B 40 H29.5.10 108 = 30
H31.4.10 108 B 40 H30.4.11 108 B 30 H29.4.5 11| = 30
R2.2.5 ofy| K 60 H31.2.12 ofy| K 50 H30.2.27 108 B 50
R1.11.8 ofy| K 60 H30.11.14 108 = 50 H29.11.17 138 = 40
R1.8.21 o = 50 H30.8.14 ofy| K 50 H29.8.29 158 B 40
R1.5.15 off| M 50 H30.5.15 off| M 40 H29.5.16 108 B 40
R2.2.3 o = 70 H31.2.1 138 B 70 H30.2.2 ofy| K 80
R1.11.5 8| HF 70 H30.12.5 ofy| K 70 H29.11.9 108 B 70
R1.8.2 oR| S 70 H30.8.3 okl g 80 H29.8.9 8H| Mg 70
R1.5.9 158 = 70 H30.5.11 158 B 70 H29.5.18 8| HF 60
R2.2.25 158 = 80 H31.2.25 168%| RS 80 H30.2.7 108 B 70
R1.11.6 108%| B 80 H30.11.21 14| = 70 H29.11.7 168 = 70
R1.8.5 1186| B 80 H30.9.3 ofy| K 70 H29.8.8 168%| RS 70
R1.5.15 168 B 80 H30.6.1 148 B 80 H29.5.11 148 B 80
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